Computational Mastery Exam
Solution Sheet

Directions: Any fractions must be simplified to lowest terms.

1. 195,622 2. 88,268

4. 6,677R34 or 6,677% 5. 143,614

3.

Name KEY

Practice

Score

194,166

Subscore

Directions: All fractions must be simplified to lowest terms. Improper fractions must be rewritten as

mixed numbers.
2 2
6. — 7. 27 8. 9—1—
3 40 14
4
9. — 10. > 11, 3i
7 18 12
12. 1E 13. E 14. 9i
24 9 9
| 4 1
15. — 16. — 17. —
5 7 16
1
18. 38— Subscore
2
Directions: Do not round any values.
19. 2.793 20. 40.815 21. 62.16
22. 2.589 23. 4.15 | Subscore
Directions: Do not round any values.
24. 9.1 25. 1,600 26. 1,470
5 1
27. 25% 28. 85— % 29. 57—
17 7

30. 598.50

. Subscore
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